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a il 24 8 40 BB
N LU A SR B ORATE FEO A SRk
E3 | BH ofE {5 A ARHIIC S0k TR YD RS HIEI R D vk BB

B DTV YIRS & B K 5| i Fa bt B S R - OB AR R = kg/nt
KOS AT 2 Nt OBE et TR {E €
H~ KAk BEEED IR 60 %
%% IEANAA R O FRAE X OV F (i A EL R O A S Al ST EALK RO BEED LR _ kg/
| B E AR 0.30  ke/nf AT | Bfirtpv D BAZE DO TR _ kg/u
WEORREE & (REE Y DM 28 | XX EEED R
ER 4.5 % | TRBME 1% DA7vT R i _ cm
EEnRI (V) LA ERE V= 10.0(%)
BL A58 EE (m)

al =0.85+(1 - 3.000V = 100) =1.21

a2 =1.00=-(1-2.000V = 100) =1.25

@3 =100=(1-4/3V = 100) =1.21

al, a2, o 3D0KRKXEEZEE LI4SE LET, a = 1.25

m=a X SL= 30.0

UEXY, BEAEE M = 30.0(N/mi) & LET, m = 30.0(N/mf)
K& A hEE(W/C)

W/C =30.6 —(30.0 + 23.3) X 100 = 57.41(%) W/C= 57.0(%)
ALK E (W) LA ERRE W= 156 (kg/nt)
BT A RE(Q)

C=W = W/C X 100 = 156 = 57.0 X 100 = 274 (kg/nf) C= 274(kg/nf)

Ve =C ~pc= 274 +3.04=90(Q/nt) Ve= 90(Q/nt)
HEM D IEFEQ /) LA ERE V= 635(0/nf)
HACHEB M E (6)

Vg = V XZEFEE 100 = 635 X 61.0 = 100 = 387(R/nf) Vg=  387(Q/nuf)

BAK 40 : 40 @ 20(HEM) ZFREHICHE 14.760 @ 14.760 @ 7.380

Vgl = Vg X ( 14.760 = ( 14.760 + 14.760 + 7.380))= 155(Q/nt) Vgl= 155(0 /nt)

Vg2 =(Vg — Vgl) X ( 14.760 = ( 14.760 + 7.380))= 155(2/nf) Vg2= 155(0/nuf)

Vg3 = Vg — Vgl - Vg2 = 77(0Q /nt) Vg3= 77(0 /nf)

Gl =Vgl X pgl = 155 X 2.71 = 420 (kg/nt) Gl= 420 (kg/nf)

G2 = Vg2 X pg2 = 155 X 2.71 = 420(kg/nt) G2= 420 (kg/nf)

G3 =Vg3 X pgd3= 77 X 2.71 = 209 (kg/nt) G3= 209 (kg/nf)
B E & (S)

Vs =av))- &EFE-( W + Ve + Vg +Vair)

= 1000 -( 156+ 90 + 387 + 45 )= 322(Q/nf) Vs=  322(Q/nf)

Vsl =Vs X( 50 =( 50+ 50))= 161(2/nf) Vsl=  161(Q/nuf)

Vs2 =Vs — Vsl = 161(Q/nt) Vs2=  161(Q /nf)

S1 =Vsl X psl = 161 X 2.55 = 411 (kg/nt") S1= 411 (kg/nt)

S2 =Vs2 X ps2 = 161 X 2.65 = 427 (kg/nf') S2= 427 (kg/nf)
B R (s/a)

s/a= Vs— (Vs+Vg) X100 = 322 = ( 322 + 387) X100 = 45.4 (%) s/a= 45.4 (%)
EfLIRFIHFIE (Ad)

Adl = C X ¥IN=E= 100 = 274 X0.80+100= 2.19(kg/nf) Adl= 2.19(kg/nf)

BLa3k (kg o)
b [ERHOQEFH®|] K |[MEHO|MEMO | MEHOMEHO HEEHMO | EHGEMAIO IEMAQ| RFHIG
274 - - 156 411 4271 - 4200 420 209 2.19 - -
AKtA R [ B57.0 % | KEAEHME | — % | ACE M E ] 45.4 %




